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QUESTION 1

You are assigned to design a storage solution for a customer\\'s Oracle OLTP environment. The current configuration
has performance issues. Users have complained about slow response.

What knowledge about a typical Oracle OLTP workload will help in the redesign of the storage environment so that it
runs more optimally?

A. Database tables and indexes are characterized by a large number of random 1/Os. Redo logs are characterized by a
large number of sequential I/Os.

B. Redo logs are characterized by a large number of random 1/Os. Database tables and indexes are characterized by a
large number of sequential I/Os.

C. Database tables, indexes, and redo logs are all characterized by a large number of sequential I/Os.
D. Database tables, indexes, and redo logs are all characterized by a large number of random 1/Os.

Correct Answer: A

QUESTION 2

What is the impact on response time when multiple concurrent writes to an RDF device arrive from different FA ports on
a Symmetrix VMAX?

A. Concurrent SRDF/S writes will not help to improve response time.

B. Writes can run in parallel and response time is slightly improved.

C. Writes need to be finished before new writes arrive and negatively impacts response time.
D. Response time is mostly determined by the application write behavior.

Correct Answer: B

QUESTION 3

A customer is planning a new Microsoft Exchange 2010 environment on their Symmetrix VMAX. The customer wants to
know how they can backup volumes containing active mailbox databases.

What advice should be provided to the customer?

A. Use the VSS plug-in that ships with Exchange 2010 or Replication Manager.

B. Only Replication Manager or a third-party Exchange-aware VSS-based application can be used.
C. Only the VSS plug-in that ships with Exchange 2010 can be used.

D. Create Custom backup scripts.

Correct Answer: A
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QUESTION 4

As a general rule when designing a Symmetrix VMAX array, which maximum percentage of utilization should be
maintained for performance critical configurations?

A. 50
B. 66
C.70
D. 75

Correct Answer: A

QUESTION 5

How many additional SDDF sessions are used for an Open Replicator incremental push?
Al

B.2

C.3

D.4

Correct Answer: A
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